
 

Paper 2: Topic 4 – The UK’s Evolving Physical Landscape KO4/9 

1. Much of the UK used to be covered in ice. 

2. There have been lots of glacial (cold) 

periods during the last 2.6 million years 

3. During these periods the UK was covered 

in a massive ice sheet. 

4. At its maximum ice covered most of 

Scotland, Ireland and Wales and came as far 

south as the Bristol Channel. 

5. Ice is very powerful so it was able to erode 

the landscape, carving out large u-shaped 

valleys in upland areas such as the Lake 

District. 

6. Glacier also deposited lots of material as 

they melted. Landscapes formed by glacial 

meltwater and deposits extend south e.g. 

large parts of eastern England are covered in 

till (an unsorted mix of clay, sand and rocks) 

deposited by melting. 

Physical Processes alter the landscape 

1. Weathering is the breakdown of rock into smaller 

pieces (mechanical, chemical or biological) 

2. Erosion wears away rock. Ice eroded the 

landscape. 

3. Post-glacial river processes – melting ice made 

rivers much bigger than normal with more power to 

erode the landscape leaving landforms like hanging 

valleys. 

4. Slope processes including mass-movement e.g. 

rock falls, slides, slumps and soil creep? 

There are 3 main ways that past tectonic activity has shaped the UK landscape: 
1. Active volcanoes – forced magma through the Earth’s crust which cooled to form igneous rocks like granite. 
2. Plate collisions – Caused folding and uplifting forming mountain ranges e.g. the Scottish Highlands/The Lake District 
3. Plate movements – UK position has changed from being near the tropics and partly under water. 



 

 

Exam practice: 

Explain two ways in which human activity has influenced the landscape of the UK. (4) 

 


